
Fact Families 
 

Solve the problems below using your understanding of fact families. 
 
 
 

1. 32 ÷ 8 = _______     2.    9 x ______ = 72 

 

 

3. ______ x 6 = 24     4.   4 x 4 = ______ 

 

 

5. 25 ÷ 5 = ______     6.   27 ÷ ______ = 3 

 

 

7. ______ ÷ 12 = 4     8.   10 x ______ = 100 

 

 

Write the equation on the line and then solve the problem. 

 

9. Robert was harvesting pumpkins.  He harvested 64 pumpkins and had 8 different 

wagons to take them back in.  How many pumpkins should go in each wagon so that 

there was an equal number?   ____________________________________________ 

 

 

10. Pa and Uncle Henry had 30 shocks of wheat standing up in the field.  They wanted to 

end up with 3 big piles.  How many shocks of wheat needed to be in each pile to make 

even piles?  ___________________________________________________________ 

 

 

11. Susan has a garden full of tomatoes.  She has 8 plants and each plant has 20 tomatoes 

on it.  She needs to put 16 tomatoes in each bucket.  How many buckets does she 

need?  ________________________________________________________________ 


